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Q1. =TT a9 & 3fd § 17,000 FI it LT U< THTT ATAT ATLTIOT =T (WTAaw) 6,800 FIF gl T
FUT H FHIT I I THIT LT T2 ATSd A [ sATST (AT T itorq) Fhaar grm?

(a) et agt o ST aear

(b) T 1T fEereat & o

(c) Rs 3570

(d) Rs 3260

(e) Rs 3980
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Q2. A T FT & T TT-P 9X X € R 3@ § s 15% i ariies < & qramor
SISt Y Tersher AT § 4T Q U1 9T % g T 3= Aot | (X + 2500) w90 f[afara
AT § o 9% 20% Wi aTise aX & Ig e saTeT (AT Srar g1 afe = Jersi P 3k Q )
FfSia T 4TS 14050 FIC g, A7 X HT AT T1q HIOC?

(a) 12500 =.

(b) 15500 =.

(c) 14500 =,

(d) 10500 =.

(e) 17500 =.
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Q3. fardt oft siw =t TrgTrg f9m, 0, 1, 2, 4, 5, 6, 8, 9 FHT ITANT FTH TIH Sl il €&AT ST A
T frvTsT g, &1 a9 Y TTReaT 4T 82

(a) 31/49

(b) 41/49

(c)21/48

(d)17/49

(e) 13/49
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Q4. 5% ‘BHATNAGAR’ & U1t T STANT F fohae HHIREAT (permutations) T 9% €,
e ‘N’ gHT 7T | SaT g1 997 B S R gHEAT A T U< 31 1 (A0 6 g i
qIAfa 7 8)?

(a) 640

(b) 720

(c) 360

(d) 240

(e) 520
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Q5. T AT ruw ForelT Treq & fAer STk 9 STt @ o S+ S 99l 9 g1 <@T 8. 98
STt § o o ® 2 AR aaeht & SI_Ta, Ao oY F A I §, AT 98 390 e}
(gender) TEI SATAAT §. ST T T F AT I T 2T g, AT T ASH (S AT 2. S I
F ASHT g1 AT ATAHAT FAT 8?2

(@) 2/3

(b) 1/2

(c) 1/3

(d) 1/4

(e) 2/4
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Q6. TF g H AT Bl g. TS A9 [2W T a1 | el | SATd §, v S GHT o GHIT gled §
T ST T JTRAT #4752

(a) 15/16

(b) 63/64

(c) 3/64

(d) 1/16

(e) 17/64
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Q7. TF 22,500 TIT it TIA T AT W & 3q | Afora ATETIOr s477 10,800 FIT . aF & a9
% 3d A AT ST G I U T 9 (fia Tl sATT fohaar g2

(a) 16,908 =T

(b) 5,724 T

(c) 28,224 #qT

(d) 8,586 =T

() 5424 w7
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Q8. TAT St 7 ey e Ry & AT P o Q # Fraver Y, o wwer: whad 037 sty
SATST A TRATT 20% FTHTT TS TS FAT 8. R 2 T 1< 57 A1 JroATe o T ST
T 9T < AT Sft fif o FufRy 61.65 wrE T oft. T GreTer syTer A e f v afar
T SATST TS HIToTT,

(a) 14.96 1@

(b) 10.7 =T

(c) 1.296 @

(d) 11.7 9=

(e) 9.96 A&
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Q9. T 100 YTHAF H&ITSA &’ & Teh G&AT AT STl §. T&AT & 2 3T 3 AT g sl
g it aTiRar sTa fifsm.

(a) 4/25

(b) 6/25

(c) 8/25

(d) 16/25

(e) 9/25

L1Difficulty 3

QTagsProbability

QCreatorDeepak Rohilla

Q10. T 7 5% T T F ATETIOT 4TS 9% 80000 FAT FT 0T o147 T 7 5% W ATl 2X

H TRl ST 92 39T AT 3 a9 a7, 39 o197 a7 30T =T &0 Sl Fedg g 3Tl &
FT ATAT Tk ATSTAT H, T a1 71 fHarer fBram 27 9 a1, S TeHT T 979 & =9 § 128.1
=T T8 FTSTAT T &1 ST qTAT 3T & AT iy

(a) 8%

(b) 7%

(c) 6%

(d) 10%

(e) 12%
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Directions (11-15): F=ferfra woat # wrar=a = (?) o T79 9 347 /1T T A180?



Q11. 2300 =T 23% -255+17=36+18 +?3
(@) 5

(b) 4

(c)7

(d) 8

(e) 16
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45 %46+ 23 x 24 -34=35=

ERN--]

®7
Q12.

(a) 1183

(b) 1351

(c) 1337

(d) 1253

(e) 1281
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Q13. 900 T 80% + 16%x 4 x ?=(11)%>-99
(a) 2.5

(b) 2

(c)1.5

(d1

(e) 0.5
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2 2 R
oua. Hut BT

1
121 —
(a) 11

(b)

(c)
(d) 121

1212
(e)
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1213
3

1212
3



Q15./4096 + /1728 + 200 FT 55% =?24 510 + 30
(a)12

(b) 13

(c) 14

(Ao

(e)7
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Solutions

S1. Ans.(c)
Let the rate of interest be r percent per annum

17000 X r x 4
100

- 6800 =

= r = 1004

«~ C.L=17000

10 42 121 — 100
(1+—) -1 ='l?ﬂﬂﬂ(—)=&s.3,5?[]
Sol.

100 100

S2. Ans.(e)
Two years Cl on 20% = 20 + 20 +

ATQ
15x2xx 44 x (x 4 2500) = 14050
100 100 % -
30x + .44x = 14050 - 1100
12950

x_
e

x=17500Rs
Sol.

20%20

100 44

S3. Ans.(e)



Total no. of 5 digits = ®P.- P, = 5,880
A no. will be divisible by 5 if it's unit
place has either '0' or ‘5’

Favourable cases

When ‘0" comes at end place
=7Tx6x5x4x1

= B840

When ‘5’ comes at end place
=6xb6x5x4x1

=720
recuived orobability — (840 + 720)
< Required probability = 880
_ 13
Sol. 49
S4. Ans.(d)
Sol.
Total letters =9 (3A, B, H, T, N, G, R)
Required probability = 6!;2!
= 240
S5. Ans (a)
Possible cases may be Younger Elder
child child
(B G)
G B
(B B)
G G

-~ Possible cases = 3 (according to question there is at least one boy)
Favorable cases = 2 (marked above)

- Probability ==
Sol.

S6. Ans.(a)
Sol. The total number of ways in which they can check in = 4 x 4 x 4 = 64 ways.
Out of this there will be 4 ways in which all of them will check into the same hotel.

Number of ways all of them do not check into the same hotel = 64 - 4 = 60 ways
=15

Required probability = g e

S7. Ans.(b)



10800 x 100
r=—— =120
22500 X 4
2

12
Cl = 225{}{}(1 + —) — 22500
100

112 112
= 22500 X — X —— — 22500
100 100

= 28224 — 22500 = 5724
Sol.

S8. Ans.(d)

5{}@( _ 1

37 6

Let amount invested by Mr. Gupta at

¢ 1629 =
$163% =

compound interest = x

And, at simple interest=y

X +y=6165000 (1)
And,

CI = SI (for two years)

1y° v X 20 X 2
X (1+—) — 1=
6 100

13 2
36 5
= 65x =72y (i)

Solving equation (i) and (ii)
y = 29,25,000 & x = 32,40,000
S = 29,25,000 X 20 x 2

100
Sol. = 11,70,000 = 11.7 lakhs

S9. Ans.(a)
A number will be divisible by 3 and 2
both if it is divisible by 6.

- Favorable cases 6,12, 18, 24, 30..cccciivivrrerrnnnnns 96
=6=1,6x2 6=x3.... 6x 16
=16
Possible cases = 100
Tigny = 28
soL probability = TR
S10. Ans (d)

Sol.
Profit earned in 3 years = Difference in interest obtained



_Pr?(300+7)

(100)3
80000 x 25 x 305

- 1000000

=Rs610
Let scheme offers R% rate of interest

2

R
610 (1 +—> —610=128.1

100
R=10%
S11. Ans(d)
23 255 36
—— %2300 ——=—+4171
100 17 18
529-15=2+7
7?=512
?7=8
Sol.
S12. Ans.(d)

Sol.

45(45 + 1) +23(23 + 1) - 34(34+ 1) =2 7

)

2[}25+45+529+23—1155—34=§$ﬂ<?

7

1432 x — =?
8

?7=1253

S13. Ans.(e)

Sol.

80
EKQDD+256X4X?= 1351 —99

720+ 1024 = 7=1232

512
7=

T 1024
7=0.5

S14. Ans.(b)

Sol.

1,3 7Y _
(44+23+54) (S +2+2) =2
64+9+7
?7=121 (—)
66

1
7= 121—
3

S15. Ans.(b)



64 +12+55x2=2"+17
=7 =169

Sol.=>?= 13



